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For this paper you must have:
e mathematical instruments.

You must not use a calculator.

Time allowed
® 1 hour 15 minutes

Instructions

¢ Use black ink or black ball-point pen. Draw diagrams in pencil.

® Fill in the boxes at the top of this page.

® Answer all questions.

® You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages.

¢ Do all rough work in this book.

Information
® The marks for questions are shown in brackets.
® The maximum mark for this paper is 66.
® The quality of your written communication is specifically assessed
in Questions 5 and 12. These questions are indicated with an asterisk (*).
® You may ask for more answer paper and graph paper. These must be
tagged securely to this answer book.

Advice
* In all calculations, show clearly how you work out your answer.
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Answer all questions in the spaces provided.

' Distance
. from home
(km)

1 (a)

1 (b)

Amy leaves home in her car at 1000 and returns at 1200.
The graph shows her journey.

A

25

R e \
15 o A

10+~

\

1000 1030 1100 1130 1200
Time

How far does she travel in her car altogether?

A4-X A = 48 km

PAETBVET 5 siszsssssmainics simsenmmsmomamarsnn s e g i km (1 mark) ‘

For how long does the car stop altogether? i
i+ 20+ 1O = ¢4 mins

ANSWET vesss oo s st R s minutes (2 marks) |
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3 Do not write
outside the

e ,“, box
1 (c) On which part of her journey is she travelling at the fastest speed?
Give a reason for your answer. ‘
— absolute ! . , 3‘
Jhegradionk of o distance s Bimeacaph (Le: changs
in.disboncg. f.thasss. i Bme ) given ypu bhe Speed,
i R e s S i sl o b et k) RABASE GRS RS S AR S LSS R Ed K LR S L ‘
<o..Ekenf s the pact of Brow'e dourmeiy Wiheco
2he WS tfave,uiﬁé at Yhe [Fastusk Speeet . (2 marks)
2 Here are some of the ingredients for a pie.
Minced lamb 4509
Potatoes 900g
Carrots 759 ‘
Stock 300 ml |
; Oliver has only 300 g of minced lamb.
1 1
How much of the other ingredients should he use? |
Yoo . _2 O, .9 2 . Looea
e e W Totaboxs: 192X RLILI2ED va
) ) . Z . O ¢
........................................... Cooatey TS X RE 208
........................................... Stock:  Boox 2 = 200ml
Potatoes .............. é OO ......................... g
Carrots .......c.ceeu.. 50 ........................... g
o100 o, S Q*OO .................... ml (3 marks)
) B 8

Turn over p
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3 Use approximations to estimate the value of e
2.19x 38.7
09 e S
Py O . e
........ reed NN W S0 2 N < X < T

4 (a) Expand w(w + 6)

7.
Answer ...... e B + ..... é\/\) ................................ (2 marks)
4 (b) Factorise fully 8y + 20
o}
Answer L\,(UJFB) ................................ (2 marks)
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5

Post and packing on a parcel is £8.00 for delivery in the UK.
This increases by 40% if the parcel is sent to the USA.

Work out the cost to send the parcel to the USA.

sh\20 L AimernAnvewy, Sush do XL 21120
Answer £ \\Q‘O ............................................... (3 marks)

The value of (x —4)(y + 3) is-10

Work out a possibjLe pair of values for x and y.

Turn over for the next question

L
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6 poaitias
e = - box
7 (a) Write 126 as a product of prime factors.
B N S S
oS- T S - S S,
2T x |
Answer ;X ................................................. (2 marks) |
7 (b) Work out the Highest Common Factor (HCF) of 72 and 126
|
i
|
Answer ...... \8 ......................................................... (2 marks) |
8 Solve 3(x—2)=5x+8
2 1< i S
=DLAXEE T
= 5 - ~6-F - -l —F
.............. o i
Answer x = '7_ ................................................... (3 marks)
|

i
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L]

n is an integer. ;

List the values of n suchthat -1 <=n+3<5

Alice has £4.
Billie has twice as much as Alice.

Billie has two-thirds of the amount Chris has.
The amount Chris has is four-fifths of his age in years.

How old is Chris?

................................... 2
, EERT S

Ches.asgis ogven b 2 = D2 X5 15

Answer ........cccoevvvcinennn. )§ ........................ years (4 marks) |
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8
11 (a) Write 2.46 x 107 as an ordinary number.
Answer ..... OOOQ_/-—}é .................................. (1 mark)
11 (b) Work out the value of (1.8 x 10%) + (9 x 10?)

Give your answer in standard form.

SR B L= AT = e A =
| Answer ....... ;XIO .......................................... (2 marks)
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*12 Grace wants to hire a taxi from home to the railway station.
She normally uses Ace Taxis or Best Cars.

Fixed charge Rate per kilometre
Ace Taxis £2.20 £1.60
Best Cars £4.00 £1.40

Here is an advert for a new taxi firm, Cozycabs.

Cozycabs

No fixed charge
£1.70 per kilometre

The cost of this journey is the same using Ace Taxis and Best Cars.
Let the distance from home to the railway station be x kilometres.

Use this information to set up and solve an equation in x.

Decide whether it is cheaper for Grace to hire a taxi from Cozycabs for the journey.

(6 marks)

Turn over p

A
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13 Solve the simultaneous equations S5x—-4y=24 - ~ . 0
3 x+2y= 9 --- @D
You must show your working.

Do not use trial and improvement.

L]
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11
| 14 Here is a table using powers of 3.
Power of 3 3¢ | 3 | 8 | ¥ ||| ¥ | F
Value 1 3 9 27 | 81 | 243 | 729 (2187
Remainder when the
value is divided by 11 . - - 2 4 1 3 9

The repeating pattern of remainders continues.

What is the remainder when 32°'2 is divided by 117

Show working to justify your answer.

(FQM\(YJ{/( hen xis dividedd 'O\O 5) i

B U SN -o 1 11 27 Wk een WO AL 3

LS

A\ vi deed [ 1
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16 (a)

16 (b)

A

Make y the subject of 5 i 2y+—35y
200000033
g = B §

Answer ...... 8@ ..............................................

(2 marks) |
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17

In the diagram, points A, B and C lie on the line 2x + y =6
B is the midpoint of AC.
D is the point (-7, 0).

VA

Not drawn accurately

=V

L//7 o A\

(—llo>

Work out the equation of the line through C and D.

L

Do not write
outside the
box

Turn over p

WMP/Jun12/43602H



Do not write
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18 Here is an identity (Bx+c)(x+c)=3x°—dx + 16

c and d are integers.

Work out all possible pairs of values of ¢ and d.

You must show your working.

(el Xee)s. 220 v 3¢ r e v >

RGeSt i L= SR

=.GC.2 e end Yo = -k

= T Pl LSRR R N | USSR S S |

VNN P . 0 Nl O O

== |
and Mibhem C= ~4, A= uwl-a) LS T
- =\
Answer (C'd :(q,‘—-\(, ...... O ( ...... ( NL]"I()> ........ (5 marks)
END OF QUESTIONS
) ) - 5

e
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